=
o
R

dc/dpi [pb/rad]

=
o
2

[EEY

Ratio to ATLAS

0.5

13000 GeV pp tt
L I B N I %
3
— pi (ATLAS for leptoquark search) 3
— 1=
— -1
= o
— A\
- o
—
-
- gt EE
- , A . \l\ -
| _|©
= N ™
— N =t
_ RN 1™
L u RN o
- . 3 N 4o
~  —A— Pythia6.428 3 D 19
| --©¢-- Pythia 6.428 atlas-gs | E
--+-- Pythia 6.428 d6t =
- Pythia 6.428 default —5
~  ---v-- Pythia 6.428 dw —c
— —o— Pythia 6.428 p0 18
)
- o
- |1
(&)
I A I IO AN I I AN T b
— ; —2
- pos - -
e - B
~Q e = 7
I S ]
1 /,,/’ 1
| —0.5
| " 1 1 1 1 " | " 1 1 " 1 1 " | " 1 1 " 1 " 1 " | " 1 " 1 " 1 " 1 " |
0 500 1000 1500 2000

pl [GeV]



	Contents
	Page 1


